Question 1.Select the related word/letters/number from the given alternatives.
&3 9131 fashedt 7 & Fafrerd eree) 3aRi/EdT H gfT|
Donkey : Brays :: Monkey : ?

LT ; Tl ; Foa : ?
Options:
1) Chatters

Tgehell

2) Trumpets

IEEIEGI

3) Bellows

ISTAT

4) Grunts

ERETEAT

Correct Answer: Chatters
BRET

Candidate Answer: Grunts
YIYI[AT

JCRK)

Question 2.Select the related word/letters/number from the given alternatives.
A 3 Tashedll 7 & Fafeerd eree) 3aRl/dear H iU

ABDE: FGIJ:: LM : ?

Options:
1) NOQR

2) NOPQ
3) NMOP

4) NPQR
Correct Answer: NOQR
Candidate Answer: NOQR

Question 3.Select the related word/letters/number from the given alternatives.
&3 I faehedl 7 @ Hafetrd Qrse) 3aR/TET 1 gfAT|

1:8::7:64

Options:

1) 25

2) 36

3) 30

4) 27
Correct Answer: 27
Candidate Answer: 27
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

&3 91T Tashodt & & fawe eree/ 3787/ HEAT J9A BT |

Options:
1) Swimming

2) Sailing
3) Diving

4) Driving
Correct Answer: Driving
Candidate Answer: Diving

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

&3 91w fashedt & & fawa 2rse/ 3767/ HEAT JIA BT |

Options:
1) RGTF

2) MLOK
3) CTES

4) VDZC
Correct Answer: VDZC
Candidate Answer: MLOK

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

& 97T Trehodl &1 & fawH ree/ 31T/ TEAT IA BT |

Options:
1) 443

2) 633
3) 821

4) 245
Correct Answer: 633
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary
fAefaf@d ereel i ereeshier # foT 1T s & H7aR AT

1. Dyke 2. Dwindle 3. Dwell 4. Dye



Options:
1) 3,2,4,1

2)1,3,4,2
3)2,1,34

4)3,4,2,1
Correct Answer: 3,2,4,1
Candidate Answer: 3,2,4,1

Question 8.Choose the correct alternative that will replace the question mark in the given series:

TET et eTht ARIST 7 98T e & w1 ) ff@w |
DHL, PTX, BFJ, ?

Options:

1) KOS

2) NRV

3) NPS

4) NRU
Correct Answer: NRV
Candidate Answer: NRV

Question 9.Find the wrong number in the series:
ST H ITed FE&IT TIReT|

28, 33, 31, 36, 34, 29

Options:

1) 33

2) 36

3)34

4) 29
Correct Answer: 29
Candidate Answer: 29

Question 10.The age of Rakhi is twelve times that of her daughter Anubha. If age of Anubha is 3 years now, then what was the age of Rakhi, 2 years earlier?

T T 3T IHRT G (1) T 3T BT 12 I[6A & | A 3T BT Y 3 A B A 2 a9 gyl I i 37 AT A ?
Options:

1) 20 years

209y

2) 34 years

349§

3) 30 years

30 @

4) 36 years

36 a¥

Correct Answer: 34 years

34 a§

Candidate Answer: 34 years

349y

Question 11.Satya's birthday falls on 15th August and Meena's birthday falls on 25th June. If Meena's birthday was on Wednesday, what was the day on Sathya's
birthday in the same year?

AT HT STedAfest 15 3T F1 3R AT T STeAfeaT 25 ST I AT § 1 A AT T STeAfeeT JUIR T AT, A Tl 1 STeAtest 38 a9 e & a7 ar ?



Options:

1) Friday

YhAR

2) Monday

FHIR

3) Tuesday

HITGAR

4) Saturday

ferar

Correct Answer: Friday
YHAR

Candidate Answer: Tuesday
HITAR

Question 12.From the given words, select the word which can be formed using the letters of the given word.

TaAToIErT ereel & & g 2fee YiAT St foU 91T ee; & 37aR o THWT & FATT ST Hehel & ?

AMPLIFICATION
Options:
1) ACTOR

2) MANOR
3) CHAMP

4) MANIA
Correct Answer: MANIA
Candidate Answer: MANIA

Question 13.If BLACKSMITH is coded as CNBELUNKUJ, then CHILDREN will be coded as ?

379X BLACKSMITH &T &8 CNBELUNKUJ & @Y CHILDREN T 1S T 8191 ?

Options:
1) DIJMESFO

2) DJINETFP
3) DJINETEP

4) DJINETEP
Correct Answer: DJINETFP
Candidate Answer: DJINETFP

Question 14.If 17 + 17 = 2895
18 + 18 = 3245

19 + 19 = 3615

then23 +23 =72

gfe 17 +17 = 2895
18 +18 = 3245
19 + 19 = 3615

ear23+23=7

Options:
1) 5765

2) 2565
3) 4005

4) 5295
Correct Answer: 5295
Candidate Answer: 5295

Question 15.In the following problem, '=' stands for '+', '+' stands for '-',

'X' stands for

1o
—r

stands for '+' and '+' stands for 'X'. Find the correct equation.

IfE (=) 1 TAAT (+), (+) FT HAS (), (X) FT HTAS (=), () F AT (+), 3T (+) T AT () &Y, A TE FERT 71T FIfSw ?



Options:
1)8+4+1-5=6x4

2)4x6+4+4=7
3)5+3-25+20=20x39

4)9 +2x6+105+1
Correct Answer: 5 +3-25+20=20x39
Candidate Answer: 5 + 3-25+20=20x39

Question 16.Select the missing number from the given responses.

Ao HEAT A HT ?

27 216 729

Options:
1) 432

2) 334
3) 512

4) 501
Correct Answer: 512
Candidate Answer: 512

Question 17.A man walked 9 km towards East and then 12 km towards South. How far is he from the starting point?

T AT 9 R, 2. g S 31T 36k are; 12 6., STEI0T 1 3R ST §1 38 IR 3R 31z Neg & o 1 gt 7 Hifsre ?
Options:

1) 8 km

8 for.amn

2) 6 km

6 fon. 7.

3) 15 km

15 ..

4) 7.5 km

7.5 ..

Correct Answer: 15 km
15 .3,

Candidate Answer: 15 km
15 fr.a,

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Poverty is a symptom as well as a consequence of social disorder.

Assumptions: I. Poverty is a type of social order

II. Poverty is related to social order

At et & U I1 &) gerdey A 913 §, sk 3m9Y e fasahd/Aegar, 1 3R 11 fAesrer 91 €1 3maent faaR e § o aerdey aca § O

IE AT U0 a0t A fead Tl 81aT 811 3T AT el & & U 910 aoFdey & & i-ar ARad & & Ta! sy/HeIdr el ST ThdT § ?
FU ; IS, AR IcTITAT I T&T0T Td TRUTA g

sy ;1. I TSR caET I Tk TR &

11. IRVl TSR caer & arafeed §l



Options:

1) only I assumption is correct

ael fshy [ Tl

2) only assumption II is correct

el fsey 11 T &1

3) Both assumptions I and II are correct
AT forsany 1 317 11 @ €1

4) Neither assumption I nor 1II is correct

AT aY frsehy [ TEY & 31K A7 &) sy 11

Correct Answer: Neither assumption I nor II is correct

AT Y SRy I e & 3R A1 € sy 11

Candidate Answer: only I assumption is correct

Fao ey I @@ 2l

Question 19.How many squares are there in the square figure ABCD?

3T ABCD & fohaey gaT & ?

A B

D e

Options:
1) 16

2) 17
3) 26

4) 30
Correct Answer: 30
Candidate Answer: 17

Question 20.Find the part which represents those actors who are also singers

g et IT 19T & S AT & F S 31ffaar & ag e o g1

—_> a

College
Students b {_\ il

Options:
1)a

2)b
3)c

4)f
Correct Answer: ¢
Candidate Answer: c



Question 21.Which answer figure will complete the pattern in the question figure?

et A 3T I Teat Ty & gferea i gt ?

OO
Ol 7

Options:

Correct Answer: e
|

Candidate Answer:

Ie




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

&Y 378 Sec¥ IMFHFAT 7 & 39 3ea¥ IS 1 AT et weat 3mpfar e &1

Options:

0

Candidate Answer:

VAN




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

&I eaT 3Tpferat # fEWT 3TER HIETST I A5, HIe TUT Wiolel & TG, TE Tohd SecX ITpfct SHar @ o ?

Folding Cut Open
TTI7TL
S 7
SN
Wi ?
AL -
s
h

Options:
1)

Candidate Answer:

Question 24.Which of the answer figure is exactly the water image of the given figure?

& 1S il 7 A SUed 1T o STel Tl i AT g ?

GROUP
649



Options:
1)

CBONb
eta

2)

9N0AD
ohe

3)

edo
CBONb

4)

ahe
qN0AD

Correct Answer:

eto
CEONb

Candidate Answer:

e<o
CGEONb

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of humbers given in the alternatives
are represented by two classes of alphabets as.in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., G can be represented by 04, 40, etc., and 'K' can
be represented by 56, 75, etc.

Similarly you have to identify the set for the word 'NILE'

eATfEa woa 3 fasred! 3 3T a0 ear-wefg, 31w & ar aeit garT g arv §, S fon i) fqw 97w & 3mexgh # 81 3megg I & s iR diea Mmoo w4 & &
IS §, 3R 3TegE I 6 5 | 9 A, 3T JTSIRT U Ueh 18R I Ugol 30! Glard 31X T1G 3 T HEAT SaRT GRATIT ST Hhell | 3ET6X0T & ToIT, G i 04, 40, 31TTE; GaRT a2ir
ST HEhAT § AT K 3T 56, 75, 3TTE GaRT GRIFT ST HerelT &1 ST g & 319 feT 2req 'NILE' & foiw g 1 qgameietr ¢

Matrix - | Matrix - Il
(1] al 2 3 4 5 B 7 ] -]
0 c D E F G 5 H K L ] ]
1 F ] c D E B 1 M H K L
2 D E F G C 7 K L | M H
a E F G C D 8 L I ] H K



Options:
1) 56, 58, 03, 02

2) 59, 77, 85, 43
3) 56, 62, 03, 02

4) 57, 60, 10, 02
Correct Answer: 59, 77, 85, 43
Candidate Answer: 59, 77, 85, 43

Question 26.Trickle down theory ignores the impact of economic growth on

Tasha fgial (oA i) efof@a & @ fra 9X 3l gfg & e &1 For 3ierst e g ?

Options:

1) Investment

feraer

2) Savings

§dd

3) Income distribution
3T faaRor

4) Consumption

Erpic)

Correct Answer: Income distribution

31 faavor
Candidate Answer: [ NOT ANSWERED ]

Question 27.The Comptroller and Auditor General of India does not audit the receipts and expenditure of

R 3 e FEToraToRYeTeh e 3 & Ry wifteat 3R s i e 7 F 2
Options:

1) Central Government

Hg TWHR

2) Local Bodies

T A

3) State Government

T ALhR

4) Government Companies

AR FFIfIT

Correct Answer: Local Bodies
B SR

Candidate Answer: Local Bodies
T SR

Question 28.In which year did the Kakori conspiracy case take place?

Ww:nmarﬁmaéﬁgsﬂ?

Options:

1) 1925

2) 1924

3) 1926

4) 1927

Correct Answer: 1925

Candidate Answer: 1925

Question 29.The Taj Mahal is called 'a dream in marble'. Which monument is called as 'a dream in stone'?

dTST FgeT T 'TIFRFR H TITT'(a dream in marble) FgT ST & ? v TARS T ' 2R | Ta0T' gl ST g ?
Options:

1) The Rang Mahal

QT Hgel

2) The Panch Mahal

G Hgel

3) The Red Fort

GICAEXHS

4) The Bahai temple

qETs Afeex



Correct Answer: The Panch Mahal
T Hgel
Candidate Answer: The Red Fort
et foelr

Question 30.Sex-ratio in India is measured as

AR & folaT 3FTaTeT ohT TOTAT 3y BT STelT & 2

Options:

1) Number of males per thousand females

ofel oI et o gt hr Fean

2) Number of females per thousand males

T g et R et 1

3) Number of males per hundred females

wfer at et o st i e

4) Number of females per hundred males

wfer it gt ox Feit i s

Correct Answer: Number of females per thousand males
TR geR et o) et i s

Candidate Answer: Number of females per thousand males

ofel oI gt o) T8t hr ean
Question 31.Companion cells are unique to

TR FRHT FeAtaf@d 7§ @6 Faa g ?
Options:

1) Bryophytes

EIRIEDES

2) Pteridophytes

[AREDE

3) Angiosperms

TfesTarETs (Tgdeiet)

4) Gymnosperms

TFAeTe (3T aeion)

Correct Answer: Angiosperms
TfeSTarETs (Tgdte)

Candidate Answer: [ NOT ANSWERED ]

Question 32.Which one of the following is an insulator?

TeATolerd & & &1 faega-Uei g ?
Options:

1) Copper

SICI

2) Wood

e

3) Mercury

URe

4) Aluminium

TegfAfAIH

Correct Answer: Wood

EEEl

Candidate Answer: Wood
CEx

Question 33.Bubbles of air rise up through liquids due to:

ToFE HROT & IR & Forger Aol TR 7 35 § ?



Options:

1) Surface tension and adherence
gee-daTa 3R 3T

2) viscosity and buoyancy.

I 3R 3cder

3) air current over the liquid and buoyancy
e ger R a1 gerE AR Ieqerd

4) Up thrust and surface tension.

31T 31K 955 el

Correct Answer: viscosity and buoyancy.
QAT 3R 3o

Candidate Answer: Up thrust and surface tension.
3819 3R I3 delrg

Question 34.Zeolite is

SRS FATE ?

Options:

1) hydrated ferric oxide

E53es B 3iTFaEs

2) hydrated sodium aluminium silicate
gI5ses MisaH vegfAferas fAfede

3) sodium hexameta phosphate

WS AT BIEhT

4) sodium tetra borate

Afsa# egreRe

Correct Answer: hydrated sodium aluminium silicate
g33cs s vofafaras fafese
Candidate Answer: [ NOT ANSWERED ]

Question 35.The boiling point of liquids vary as

TR HROT & ael Tereit & Fa=Ties (boiling point) 7 fAeaAaT gl & ?
Options:

1) pressure varies

ad H eetar

2) temperature varies

GIRECE=RECT I

3) volume varies

I H Festar

4) density varies

gelcd & fReetar

Correct Answer: pressure varies

ge # fFeetar

Candidate Answer: temperature varies

AT 7 fAeatar
Question 36.The largest source of pollution in the world is

fea # ygyoT 1 HEW TT W FIA-TE ?
Options:

1) herbicides and insecticides

ARATRYY 3R el

2) Automobile exhausts

JMASTgS H foehelel aTell 431

3) Sewage and garbage

%37 3R FHERT

4) Industrial effluents

e afg-aa

Correct Answer: Sewage and garbage
EEIER Y

Candidate Answer: Industrial effluents

m EIREICH



Question 37.Among the following states, the literacy rate is highest in

frfaf@d Tt 7 & aafog AeRaT e Fa TSI HE ?
Options:

1) Orissa

3T

2) Punjab

Cric)

3) Maharashtra

HERTSS

4) Mizoram

[Grie

Correct Answer: Mizoram

AR

Candidate Answer: Mizoram

[GEIC)

Question 38.The minimum number of members that must be present to hold the meeting of the Lok Sabha is

SNeEs T Ao AT e & ToIT YATH fehetell FEdT H HeT 3ufeyd giet =1feT ?
Options:

1) One-fourth of the total membership

Fol HEEI T T Teh-ATg

2) One-tenth of the total membership

Fool FETI AT T SHAT 19T

3) Fifty percent strength of the Lok Sabha

ST T I ufaerd d&ar

4) At least hundred members

eIcad &t gee

Correct Answer: One-tenth of the total membership
o TEEAC T el $71aT

Candidate Answer: One-fourth of the total membership
Fool HEEI T T Teh-HATg

Question 39.India's population growth is characterized by

R F ST gig I T faQvar g ?

Options:

1) An increase in rate of death

AW AR

2) An increase in the ratio of females

A3 & 3T H fe

3) An increase in the birth rate and declining death rate

STH-e # gi fhed #cg a3 H Tl

4) Increasing number of old people

€ SafFarlt i wedt wEar

Correct Answer: An increase in the birth rate and declining death rate
SieA-eT # gig fohed 7y e & all

Candidate Answer: An increase in the birth rate and declining death rate
SieA-eT # gl fohed g o & el

Question 40.What will you call a system of taxation under which the poorer sections are taxed at higher rates than the richer sections?

3T XY T TUTN ol T Shgdl Torey fovelar et o ereft gat hr 319eTr 3170 e oemam Sar & ?
Options:

1) Progressive tax

AT HT

2) Proportional tax

JTeTfereh Y

3) Regressive tax

GRIIMAT T

4) Degressive tax

3RS

Correct Answer: Regressive tax
T X



Candidate Answer: Degressive tax

3THIAD P

Question 41.The most important function of an interest group is to

el 'feciarg I[e' T Had HgeaqoT Il FATEIATE ?
Options:

1) form the government

TR FedledT

2) alter government policies to its liking

39T THE & ITAR TR At 7 TRacher

3) build up public opinion

STeTHd dedlAT

4) Contest elections

EGICASEC]

Correct Answer: alter government policies to its liking
3T THE & AR TR At 3 TRacher
Candidate Answer: form the government
TR FedledT

Question 42.Which among the following is not correctly paired?

AT 3 & Fle-ar goa el g & ?
Options:

1) Shivaji-Afzal Khan

TRIaTeN-3hstel @1

2) Nurjahan-Mahabat Khan
LSTGT-FgTe @l

3) Akbar-Rana Pratap

3haT-OT HATT

4) Babar-Bairam Khan

ITR-RFA @7

Correct Answer: Babar-Bairam Khan
ITER-S @T

Candidate Answer: Nurjahan-Mahabat Khan
SLSTGT-FgTad @l

Question 43.Which of the following desertsiis rich in gold reserves?

AR d & ¥ fha Yeara 7 3canlish &1 & TGoT HSR I AT & ?
Options:

1) Arabian

IR

2) Thar

IR

3) Mongolian

FHanferar

4) Atacama

SATCIhTAT

Correct Answer: Atacama
3TeETeRTAT

Candidate Answer: Atacama
TCTRTAT

Question 44.Lacrymal glands are situated in the

374 31l gl e @I € 2



Options:

1) Palms

gafor &7

2) Buccal cavity

T o

3) Eye orbit

BEEIGE:

4) Stomach

JTH

Correct Answer: Eye orbit
CEEICE:

Candidate Answer: Eye orbit
o IRT 7

Question 45.The most extensive use of molasses after fermentation is for producing

TRUG & LT T8 e & H A" FT T A af@d F & FI7 JIR R & faw fFar smarg 2
Options:

1) Methanol

AAATT

2) Sugar

AT

3) Ethanol

VAT

4) Sugarcane

eIl

Correct Answer: Ethanol

o

Candidate Answer: [ NOT ANSWERED ]

Question 46.Acid rain is caused due to pollution of atmosphere by

31l T frFAfld # & e gaRT gu yewor A e & 2
Options:

1) oxides of nitrogen and sulphur

AT 3R T & HTadss I

2) oxides of nitrogen and phosphorous

AT 3R BEPRY & 3iTFaEs &

3) oxides of carbon and nitrogen

FIaeT 3R ARSI & TS

4) oxides of nitrogen and methane

ATEersteT 3T HAT & 3iTFass &

Correct Answer: oxides of nitrogen and sulphur
ATSEISTeT AT THR & JiTeraEs o

Candidate Answer: oxides of nitrogen and sulphur

ATSersTeT 3T Tod & 3fTFaEs o

Question 47.The dispute over Siachin Glacier is between

T TR & ole foheT =i & o faare § 2
Options:

1) India and China

AR 3R AT

2) India and Afghanistan

AR AR 3panfarearT

3) India and Pakistan

AR AR IIferEdteT

4) India and Nepal

AR AR STt

Correct Answer: India and Pakistan

IR 3R urfereaeT

Candidate Answer: India and China
AR 3R AT



Question 48.Who wrote the famous line: 'A thing of beauty is a joy forever

I Uilg gercll fohret Tordl &t : "A thing of beauty is a joy forever"
Options:

1) John Keats

ST dled

2) V.S. Naipaul

dr.uq. Ayl

3) Sir Richard Burton

W Ras g&1

4) Larry Collins

R Fifea

Correct Answer: John Keats
SileT Pred

Candidate Answer: John Keats
ST dled

Question 49.Who was the first lady Governor of an Indian State?

TRET AR T T T2 AT ToTqTel HieT &Y ?
Options:

1) Mrs. Sucheta Kripalani

AT G H=AT

2) Miss Padmaja Naidu

. TSN ARG

3) Mrs Tarkeswari Sinha

ANAST AP gt

4) Mrs. Sarojini Naidu

A TR A1Tg

Correct Answer: Mrs. Sucheta Kripalani
AT FAAT HleAT

Candidate Answer: Mrs. Sarojini Naidu

A TRASTAT 7TIg

Question 50.Which of the following is an application protocol?

frfaf@d 7 8 Fla-ar vfiiese dieerd § ?

Options:
1) HTTP

2) TCP
3) 1P

4) UDP
Correct Answer: HTTP
Candidate Answer: HTTP

Question 51.A clock gains 15 minutes per day. If it is set right at 12 noon, the time it shows at 4 AM is

T T3 Ycdah feaT 15 fReTe 39T g Sy §1 I 38 aueT 12 91 Tel A Fileh TollT ST &, o UTd: 4 9oF 98 47 §AY fe@reah ?
Options:

1) 4.20 AM

4.20 91d:

2) 4.30 AM

4.30 91d:

3) 4.02 AM

4.02 91d:

4) 4.10 AM

4.10 91d:

Correct Answer: 4.10 AM
4.10 9T

Candidate Answer: 4.20 AM
4.20 91d:



Question 52.A home theatre set is Rs. 4950. If two successive discounts of 20% and 15% are given, then its selling price is

T g1 e A Rs. 4950 T &1 ARG 38 9N 20% 31X 15% T ar i T & ST df 38T 9o Hod T g1l ?

Options:
1) Rs.3366

2) Rs.6633
3) Rs.3636

4) Rs.6363
Correct Answer: Rs.3366
Candidate Answer: Rs.3366

Question 53.If 15% of x is three times of 10% of y, then xiy =

T X T 15% , y o 10% T TSI &, T x : y ok Srar glem ?

Options:
1) 1:2

2) 2:1
3)3:2

4)2:3
Correct Answer: 2:1
Candidate Answer: 3:2

Question 54.A bookseller bought 500 text books for 1 20,000. He wanted to sell them at a profit so that he get 50 books free. At what profit percent should he sell
them?

forelt qeten farshlT &1 500 ITed T&deh | 20000 # TEN| I8 e U SlTS IR SeTT <lTgicll & clieh 38 50 G&ien fof:Q[esh TS 337 fehciel FTcTerct oi1eT oR 37T qocieh Saiet
TR ?

Options:
1) 10

2) 20
3) 15

4) 10.5
Correct Answer: 10
Candidate Answer: 10.5

Question 55.20% of a man's salary is paid.as rent, 60% are his living expenses and 10% are his savings. If he spends remaining " 30 on the education of his
children, find his salary

el cTfFd & AeieT T 20% $RT FARIT G T 81T &, 60% T SHaeT-ATeT X T @i & 31T 10% 19T $r a8 sod T &1 IS I8 AT 1 30 st $Hr e ® @ R,
T 35T dde fhder g ?

Options:
1) 300

2) 900
3) 3000

4) 9000
Correct Answer: 300
Candidate Answer: 300

Question 56.A gun is fired at a distance of 6.64 km away from Ram. He hears the sound 20 seconds later. Then the speed of sound is

Teh Seeeh A U 6.64 oA T gl & gl Sirelt &1 T3 20 Wehvs dle; 3HRT 3MTaTeT (EdfeT) Goicll §1 38 eafel oy afey Far g ?



Options:

1) 664 m/s
664 /3.

2) 664 km/s
664 fr.7./30
3)332m/s
332 #/3.

4) 332 km/s
332 fr.an/a.

Correct Answer: 332 m/s

332 #/3.
Candidate Answer: [ NOT ANSWERED ]

Question 57.The simple interest on Rs. 2000 for 2 years at Rs. 75 per thousand per annum will be

Rs. 2000 UX Rs. 75 9T goIR a1f¥eh e UX 2 T ol TTEIROT sTToT T BT ?

Options:
1) Rs.150

2) Rs.300
3) Rs.600

4) Rs.400
Correct Answer: Rs.300
Candidate Answer: Rs.300

Question 58.If x = 1 + V2 + V3, then the value of X2 - 2x - 4 is

IR x =1+ V2 + V38, arx? - 2x - 4 7 He a0 ?

Options:
1) V6

2) 23
3) 3v2

4) 2V6
Correct Answer: 26
Candidate Answer: [ NOT ANSWERED ]

Question 59.
I, C :Ij) Byt , then the value of (a - b} is
vab 1

gfg M:E Eﬁ,fh (a-b)

Vab w11
1 T & ER 2
Options:
1)1
2)0
3)-1
4)2

Correct Answer: 0
Candidate Answer: 0

Question 60.If AABC is an equilateral triangle of side 16 cm, then the length of altitude is

gfe AABC 16 T, aiwmwa@ﬁaﬁwg‘r, ar BT foF 3=rS aaT ?



Options:

1) 2v3cm

2V3 o

2) 4vV3 cm

4/3 Q.7

3) 8V3 cm

83 T

4) 5v3 cm

5V3 @

Correct Answer: 8V3 cm

8V3 T
Candidate Answer: [ NOT ANSWERED ]

Question 61.0 is the circumcentre of AABC. If AO = 8 cm, then the length of BO is

AABC &7 O IR&eg &1 I A0 = 8 A g, Y BO I oS 57Ty ?
Options:

1)12cm

12 {7

2)3cm

33

3)6cm

6 {7

4) 8 cm

8 {.A.

Correct Answer: 8 cm

8 WA,

Candidate Answer: 6 cm
6 T

Question 62.Given that tan(8 + 15°) = v/3. Then the value of 8 is?

Ig A g & tan(8 + 15°) = V3, A 8 T AT T ?

Options:
1) 15°

2) 75°
3) 45°

4) 65°
Correct Answer: 45°
Candidate Answer: 45°

Question 63.The least number of square tiles of side 41 cms required to pave the ceiling of a room of size 15m 17cm long and 9m 2 cm broad is:

15 #reX 17 AL o5 R 9 7 2 Tl I3 T H od T F AT 41 T, Gl el ~gATH el qeMER TTgel I ATTLIHAT gy ?

Options:
1) 902

2) 656
3) 738

4) 814
Correct Answer: 814
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of fruits offered in a temple in a week was 75. The average of fruits offered in six days excluding Tuesday was 72. How many fruits were
offered on Tuesday?

TR AfCeT 7 Tk Fedtg & AT 75 el TeIT 3T | FITATR I OIS T AV 6 T&a1 & 3T 72 el TeIT 3T | FITATR & et fohcdel Bl Talv v ?



Options:
1) 90

2) 93
3) 72

4) 92
Correct Answer: 93
Candidate Answer: 93

Question 65.
e e |
If a =x3y3 +x3 y3,then a3 — 3ay — x is equal to

g a= x;y;+ X y’§ ,B’f ar 33-3ay-x1%l7\‘$'7 g{d{ B’I’JIT

Options:
1)

Correct Answer:
.2

Y

X
Candidate Answer: [ NOT ANSWERED ]

Question 66.
If}(+E =5, then the value of —26"— is,
x = +x+1

1 6x
ﬂﬁ:x’r x:.'_'-.\ébl,ﬁ[ 2+x+1

IO Ty ?

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 1

Question 67.Ifa > b >0, AB = a - bcm, BC = 2vab cm, then ZABC is

Ifg a>b>0, AB = a - b .., BC = 2vab @.70.81, dT LABC T HeT 7 8191 ?



Options:
1) 45°

2) 60°
3) 90°

4) 120°
Correct Answer: 90°
Candidate Answer: [ NOT ANSWERED ]

Question 68.PR is a tangent to a circle with centre O and radius 4 cm at point Q. If ZPOR = 90°, OR = 5 cm and OP = 20/3 cm, then the length of PR is:

PR, O g, aTel ged & T9e 3@ § 3R Q fiwg wr F3sam 4 #0700 §1 77 2POR = 90°, OR = 5 @7, 31X OP = 20/3 .7, g A PR I oIS IA1ST ?

Options:
1)3cm
2)

16
—cm
=]

Correct Answer:

25

Candidate Answer: [ NOT ANSWERED ]

Question 69.From a point, 40 m apart from the foot of a tower, the angle of elevation of its top is 60°. The height of the tower is

Tl IR o 3TER & 40 FieX T gl W, Ueh foieg A, FAIAR o A $1197 h7 37T HI0T 60° §| HAR Y 1S TAST ?
Options:

1) 40v3

40V3

2) 40v3 cm

40v/3 &

3)40V3 m

403 A

4)40v2 m

40v2 7.

Correct Answer: 40V3 m
40v/3 .

Candidate Answer: 40V3 m
40V3 #.

Question 70.The radius of a sphere and hemisphere are same. The ratio of their total surface area is

Tl 3otk 3R 3refatoreh &Y ST U FA §1 3eTeh Tol TG o &1l T T FATU ?



Options:
1)3:1

2)2:1
3) 3:2

4)4:3
Correct Answer: 4:3
Candidate Answer: [ NOT ANSWERED ]

Question 71.Two equal arcs of two circles subtend angle of 60° and 75° at the centre. The ratio of the radii of the two circles is

2 gedll hi & sRTaR T =1, g 7 60° 3T 75° o 0T IedRel HIAT &1 Aell Jeall b I3 T T T g ?

Options:
1) 5/4

2)3/2
3) 4/5

4)2/3
Correct Answer: 5/4
Candidate Answer: 4/5

Question 72.Study the following graph carefully and answer the questions

RAfaf@d ame Ft e A U, 3R Feafaf@a weat & 3cav

70

60

50

40

Percent

30

20

10

Which state has aximum percentage of electrified villages?

e Tl 3 3 RIHaA g g 37 fasren & ?

Options:
1)B

2)C
3)D

4)F
Correct Answer: C
Candidate Answer: D



Question 73.Study the following graph carefully and answer the questions

AR I & &1 & 96, R Frafaf@a ueat & 3ear afore|
70

60 55
50 45

40

30 25

Percent

20

10

<

A B C D E F
State

If the Central Government desires to give aid for speedy electrification starting from states with least electrification, which state

nk in order of
priority?

TS g THR Aol § TrsToll ot & foIT Fgrram &1 @ ¥ 3 IR leT-HT T BT ?

Options:
1)F

2)C
3)E

4)B
Correct Answer: F
Candidate Answer: B

70

60 55

50 45

40

Percent

30 25

20

10

A B C D E F
State

How many States have at least 60% or more electrified villages?

Torcrel T 0 ¥ o8 & & d 60% maﬁm?ﬁaﬁmq@%?



Options:
1) Five
are

2) Three
et

3) Four
IR

4) Two
ar
Correct Answer: Three
et

Candidate Answer: Three

e

Question 75.Study the following graph carefully and answer the questions

AT I &l e 3 ve, 3R FeAfaf@a weal & 3ear Jfow|
70
60

50

40

Percent

30

20

10

Which state has twice the percentage of vi

e T & D T & ool & fsrelr

Options:
1)A

2)E
3)F

4)C
Correct Answer: C
Candidate Answer: F

Question 76.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Conniosseur

2) Connoisseur

3) Connossieur

4) Connosseiur

Correct Answer: Connoisseur

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

SOOTHE



Options:

1) QUENCH
2) MITIGATE
3) HEAL

4) AGITATE

Correct Answer: AGITATE
Candidate Answer: [ NOT ANSWERED ]

Question 78.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

DEVASTATION

Options:

1) DESTRUCTION
2) CONSTRUCTION
3) SEPARATION

4) FRUSTRATION

Correct Answer: DESTRUCTION
Candidate Answer: [ NOT ANSWERED ]

Question 79.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An exact copy
Options:

1) Facsimile
2) Twin

3) Mirror

4) Clone

Correct Answer: Facsimile
Candidate Answer: Mirror

Question 80.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

To give money to agents for sales.
Options:

1) Salary

2) Commission

3) Fee

4) Incentive

Correct Answer: Commission
Candidate Answer: Commission

Question 81.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who is working in the same institution.
Options:

1) Guide

2) Collector

3) Captain

4) Colleague

Correct Answer: Colleague

Candidate Answer: Captain

Question 82.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cat-nap

Options:

1) Rest

2) Fitful sleep

3) Long sleep

4) Short sleep

Correct Answer: Short sleep

Candidate Answer: [ NOT ANSWERED ]

Question 83.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To pull a long face



Options:

1) Looked happily

2) Looked surprised

3) Looked sad

4) Looked calm

Correct Answer: Looked sad

Candidate Answer: Looked surprised

Question 84.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fit her like a glove.
Options:

1) Too large

2) Too shabby

3) Too tight

4) Perfectly

Correct Answer: Perfectly

Candidate Answer: Perfectly

Question 85.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Health is too important to be
Options:

1) discarded

2) disposed

3) neglected

4) detested

Correct Answer: neglected

Candidate Answer: [ NOT ANSWERED ]

Question 86.The sentences given with blanks are to be filled with an appropriate word(s): Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

ITam this crime.
Options:

1) ignorant on

2) innocent of

3) indebted to

4) ignoring

Correct Answer: innocent of
Candidate Answer: innocent of

Question 87.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative-and click the button corresponding to it.

I was paying the toll tax.
Options:

1) free from

2) exonerated from

3) exempted from

4) exposed to

Correct Answer: exempted from
Candidate Answer: [ NOT ANSWERED ]

Question 88.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “"No error” option.

T used (A)/ a pair of black trousers (B) / for a week (C)/ No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 89.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He has made a mistake (A)/ of which (B) / I am certain (C) / No error (D)



Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: [ NOT ANSWERED ]

Question 90.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He was not allowed (A) / for the teacher (B) / to read in a low voice (C) / no error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 91.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

Why did the narrator not bear a grudge against her mother?
Options:

1) She felt that her mother had that kind of nature

2) She was satisfied with her father's love

3) Her mother was incapable of loving

4) Her mother was angry with everyone

Correct Answer: She felt that her mother had that kind of nature
Candidate Answer: Her mother was incapable of loving

Question 92.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

The narrator's mother reverted to her old self because

Options:

1) she fought with her husband

2) she did not feel comfortable in revealing her emotions

3) she was angry with the children

4) her husband wanted her to be her old self

Correct Answer: she did not feel comfortable in revealing her emotions

Candidate Answer: her husband wanted her to be her old self



Question 93.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

The narrator's mother didn't appreciate the narrator's results because
Options:

1) the marks were not good

2) the marks could be better

3) she wasn't very expressive

4) she was tense

Correct Answer: she wasn't very expressive

Candidate Answer: she wasn't very expressive

Question 94.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

How is the narrator's dad different from her mother?
Options:

1) He is dark

2) He expresses his feelings openly

3) He dislikes children

4) He is persuasive in nature

Correct Answer: He expresses his feelings openly
Candidate Answer: He expresses his feelings openly

Question 95.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My mom grew up in a traditional Chinese family in which open expressions of love were never encouraged. When she had me and my three siblings, she treated us
with the same hard hand. It was not that she was a slave driver or anything, but she never openly showed affection. Instead, she demonstrated that she cared in
more practical ways.

My parents couldn't have been more different emotionally. My dad is a really open-hearted person who constantly showers us with hugs and kisses no matter the
occasion. After much persuasion from him, my mother did try to change, but it was clear that she never felt quite right expressing her emotions. Eventually, she
reverted to her old self.

The difference between my parents was never starker than whenever I brought home good test results from school. My dad would practically jump with joy, offering
warm and affectionate words of congratulations, and my mother? "Ah, good, good" she would typically say with a tense smile etched on her face. "Do better next
time, OK?"

I tried not to hold a grudge against her for being so reserved. That was just her way. I reasoned.

Why was the narrator's mother not expressive of her love?
Options:

1) She was of Chinese origin

2) It was not her nature

3) She was a harsh person

4) The tradition at her home didn't allow her.

Correct Answer: The tradition at her home didn't allow her.



Candidate Answer: She was a harsh person

Question 96.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

Both of us had a different opinion about it.
Options:

1) Both of us has

2) Each of us had

3) Each of us have

4) No improvement

Correct Answer: Each of us had

Candidate Answer: [ NOT ANSWERED ]

Question 97.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The trade union is hell bent at getting its demands fulfilled
Options:

1) hell bent in

2) hell bent about

3) hell bent on

4) No improvement

Correct Answer: hell bent on

Candidate Answer: [ NOT ANSWERED ]

Question 98.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The police had to break the door to get in
Options:

1) to break up

2) to break in

3) to break down

4) No improvement

Correct Answer: to break down

Candidate Answer: [ NOT ANSWERED ]

Question 99.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The plane landed and shot towards the airport
Options:

1) taxied

2) drove

3) wheeled

4) No improvement

Correct Answer: taxied

Candidate Answer: [ NOT ANSWERED ]

Question 100.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

After a hard days work, I just want to go home.
Options:

1) hard day's work

2) hard days' work

3) hard day work

4) No improvement

Correct Answer: hard day's work

Candidate Answer: [ NOT ANSWERED ]





